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a b’—4dac>0

"

a b’—4dac=32
.. real and distinct

e b’ —4dac=0
.. real and equal

i b —4dac=4
.. real and distinct

m b’ —4dac=-7

.. not real

equal roots

s b —4dac=0
1-4p=0
P=7q

repeated root

b —4dac=0
4q° +49=0
4g(g+1)=0
q#0 . g=-1

b —4dac=0

a

b - 4ac=-11
.. not real

b* —4ac =13
.. real and distinct

b’ —dac=-11
.. not real

>
b*—4dac=1

.. real and distinct

x*+rx—2x+4=0 has equal roots

b —4dac=0
(r=2-16=0
P —4r—12=0
r+2)(r-6)=0
r=-2orb6

b’ —4dac<0

A/,

X

b —dac =—4
.. not real

b* — 4ac =53
.. real and distinct

b’ —4ac=0

.. real and equal
2 _

b”—4dac =

.. real and distinct

© Solomon Press

d

Ry

d b’ —4dac=24
.. real and distinct

h b*—dac=-7
.. not real

1 b*—4ac=-3
.. not real

p b —dac=-L%
.. not real



